©O~

) LaserPecker

LaserPecker 4 Rotary Extension
User Manual




After-Sales Services List of Included Parts

e Technical support for this product is available globally. Doulzle-step SingLe-step Stud X
Please contact us if you encounter any problem with ~ Jaw ™3 Jaw ™3 Component * 3

your LP4 and we will get back to you as soon as -
possible. e l
_ (S
e Email: support@laserpecker.com g é
] N
e Tel: +86 0755-28913864 L]

Rotary Headstock Head ~ Rotary Headstock Baseplate

Online User Community

e LaserPecker's huge online global community
connects our diverse group of dedicated users and
offers support, inspiration, and a showcase for
sharing creativity.

e Facebook: LaserPecker 4 Riser Add-on*1 Support Module Elevation Pad * 1
-

—
o -
I

v —————

1m USB-C Cable *1  M3x6 Screw *6 M3x10 Screw *4 Hex Key

i ——
LaserPecker 4 y ?

VIP Group




Component Overview & Descriptions

pff'BuckIe

. Suction Cup
USB-C Power Input

USB-C Power Output
:

Angle Adjustment Knob



Component Overview & Descriptions

T mmm e — USB Output Port for Accessory

| rTTTT oo ooomm——o--ooo--—-------s DC Power Cable Input

b
} I
I
USB Output Port for Safety Shield =~~~ i ! ©
[ !
[ !
I
b |
|

o
Rotary Extension USB-C Power Input
=

8 }.

%QD !

I

. B !

— 1

I

I

I

|

= i

Electric Stand USB-C Power Input iy !

/“\@s\a\® ' Rotary Extension USB-C Power Output
| - | H
! [\ B \
| . |
® ©
/ -



Quick Installation

0 Assemble the Riser Add-on

Tighten the two screws to assemble Riser Add-on between LP4 Laser Unit and Electric Stand.

*Make sure the Safety Shield is assembled before this step.For details, please refer to LP4 User Manual.




9 Assemble the Rotary Headstock

Attach Rotary Headstock Head to Headstock Baseplate with 4 pcs of M3x10 screws
and the Hex Key.




9 Headstock Assembly

step Jaws Installation

(MDouble

Attach three double-step jaws to the rotary chuck using the wrench and 6 pcs of M3x6 screws.




(2)Single-step Jaws Installation
Attach three single-step jaws to the rotary chuck using the wrench and 6 pcs of M3x6 screws.




3 Stud Component Installation
Attach three stud components to the rotary chuck.




e Rotary Extension Assembly

Lock the buckle

Slide the tailstock into the base
of the headstock along the track



e Stabilize the Rotary Extension

Put the Elevation Pad under the Rotary Headstock to make it more table.




Quick Start Guide

Turn on Mode Settings>Rotary Extension on the app, adjust the height and angle of the rotary.

Choose an image, set its size and position, start previewing, set the engraving power and depth
parameters, and start engraving.

@ Turn on the Rotary Extension button. @ Turn the knob on the tailstock stand clockwise

or counterclockwise to adjust height.
18:07 Em Be4d
{Back Mode Settings
Working Beep

hon saring Turn the knob

Security Status
tom: ing

Free Mode
Disclaimer

G-CODE Preview
1
Versatile Electric Roller
sport

Rotary Extension

Slide Extension Multi-file Mode

Slide table multi-file carving mode

Touch Buttons




© When the diameter of the carved object/sphere is too large, turn the gear to adjust
the opening of the chuck jaws

I




. LaserPecker

Product Specification

308*108*99mm

1.7kg

52mm-80mm

200mm

Anodic oxidation of aluminum alloy

0mm-128mm

66mm-145mm

13mm-78mm

Supporti0S 9.0+, Android 6.0+, MacOS 10+, Windows 10+

5V/1A

0.014°

140.625 degrees/second

V=360/200/128/0.00012=117.1875 degrees per second

V=360/200/128/0.00012=117.1875 degrees per second




Laserrecker



